HAERZBFRESIHRE (ER27FE12A X H )

£ | A| A 24 XHRS | £% (M)
27| 12 IEERBEZESERESAARIGE F 10,000
27| 12| W|EIERBREBEECHEHRIHEE FA 5,000
27| 12| 28|HAERBREBEMFBEIAARIEE FH 5,000
27| 12| QJO|HAERBRBEMFBESAAKRIEE i 5,000
12A 57 &5t 44 25,000

(X HX5E] X5 HH ) | £%EM)
=& 0 0

me 0 0

FH 4 25,000

- £ 0 0

ZDith 0 0

12A5 &5t 444 25,000




HAERZBFRESIHRE (ER27TE11AXHS)

£ | A| A 24 XHRS | £% (M)
271 T|#ME—/NER BISL140BEERRSNESR *E 5,000
27| 11| 14\BUNER  BIN60RFLEEMESR =& 3,000
27 11| 16|HIERERIERXHRIHE FH 10,000
27| 11| 16|HIIRERBECERXHZRIHME e 5,000
27| 11| 26|HAERKRIERXZRIHE-ETER AR 16,200
NMAR&E 54 39,200

[(XHRX 5] X5 HHE) | £%EM)
=8 2 8,000

HE 0 0

FH 2 15,000

TEim- £ 1 16,200

ZDih 0 0

MAR&EE 514 39,200




HAERZBFRESIHRE (ER27E10A X H )

£ | A | A8 24 XHRERS | £%E (M)
27 10| 10|#EHE—/NER BIXL140FFER SN E=3 - 5,000
27| 10| 17|@HFF/NMER BT 140BEFESHE =& 3,000
27| 10| 24|RIMFEA/NFER BISISOEFRSHE E=3 - 5,000

108 &5t 3 13,000

[(XHRX 5] X5 B () | 2% ()
=& 3 13,000

HE 0 0

Fa 0 0

e -ETER 0 0

ZDih 0 0

108 &5 3 13,000




HAERZBRESIHRE (ER2TFIAZTHS)

£ | A| A =4 XHRS | £% (M)
27| 9| 13|FBITLEEIITEHRE E=3 - 2,000
27| 9| 28|REABREBECARABKRIHE FH 10,000
9IANEEt 24 12,000

(X HX5E] X5 HHE) | £%EM)
=& 1 2,000

me 0 0

FH 1 10,000

- £ER 0 0

ZDith 0 0

IAHERt 21 12,000




HAERZBRESIHRE (ER27TFE8AZTHS)

A | H 24 XHR | €% (M)

27l gl 14 g%gg;zfﬁj'L‘Es*ciﬁ%ﬂ?jc%z-?ﬂ«rhs—v‘wwj‘ o 5000
8ANEEt 1% 5,000

[(XHRX 5] X5 HH ) | £%EF)
=8 1 5,000

HmE 0 0

EH 0 0

e -E£TER 0 0

Z D1 0 0

8ANEE 1 5,000




HAERZBRESIHRE (ER2TETAZHS)

&F H =4 XHRS | £%E (M)
27 V(X =B E=3 5,000
1AREEt 144 5,000

(X HX5E] X5 B8 | £% )
= 1 5,000
me 0 0
FH 0 0
- £ 0 0
ZDfth 0 0
1AREEt 144 5,000




HAERZBRESIHRE (ER27TF6AZHS)

A | H 24 XHRERS | £%E (M)
6A &G o4 0
[(XH X5 Et] X5 B () | £%E M)
e3¢ 0 0
me 0 0
FH 0 0
T -£ER 0 0
Z0Dih 0 0
6A & o4 0




HAERZBRESIHRE (ER2TE5AZHS)

& S| 24 XHRERS | £%E (M)
27 16| B RBHRE *E 5,000
27 9| XRERANEBHRE =8 5,000
IS e T salv e 2 | 2000
27 20(#2 i X 3L P FERPTARG B S E TR =& 5,000

5ANEEt 4% 17,000

[(XHRX 5] X5 B | £%EM)

=8 4 17,000

HE 0 0

FH 0 0

e -E£TER 0 0

ZDih 0 0

5AN&Et 4% 17,000




HAERZBRESIHRE (ER2TFIRAZTHS)

A | B =4 XHRS | £% (M)
4R AEE of% 0
(X HX5E] X5 HH ) | €M)
e3¢ 0 0
me 0 0
FH 0 0
T -£ER 0 0
Z Dt 0 0
AR EEt of% 0




HAERZBRESIHRE (ER2TEIAZTHS)

A | H 24 XHRERS | £%E (M)
IANAEE o4 0
[(XH X5 Et] X5 B () | £%E M)
e3¢ 0 0
me 0 0
FH 0 0
T -£ER 0 0
Z0Dih 0 0
SANEE o4 0




HAERZBRESIHRE (ER2TF2RAZHS)

& =4 ZHES | £%E (M)
27| 2 |HEERZERAFKETHTES =& 10,000
271 2 5| B ZERBGRECREKRIHE FH 5,000
27| 2| 10|BIERBREESAAKRIHE FH 10,000
271 2| VBRARBRBECAAKRIHE. £EAR HIER 16,200
27| 2| 20|HUEREBRESAKARIHE FH 5,000
27| 2| 24|BEBRELSBREBECREHIHEE FH 5,000
2ANEE 614 51,200

[(XH X5 Et] X5 B () | £%E (M)
e3¢ 1 10,000

e 0 0

FH 4 25,000

- £ 1 16,200

ZDith 0 0

2AR & 614 51,200




FERXFEEIHRR (FH27F1AXZHS)

& H 24 XHRS | £% (M)
271 1 6| R I X T ERMRTFERRIRBE =& 5,000
27 1 I A XEMEHFEERARER E=3 5,000
27 1| M| BERSGAFEBRHEBRAR] =E 8,000
27 1| 15| FER26EE HIERFELEZERERIHETBRER E=3 3,000
27 1| 17| EBEEEHEBRRE =8 5,000
27 1| 20|BIERAEHESIFERRR RE 6,000
271 1| 21|BARHMKEEIHFRRE =8 8,000
27 1| 2| BIEREFEEFFEARER RE 5,000
27 1| 25|REHMEEMEUXBIESR E=3 -1 10,000
27| 1| 26|BAERSTIARIEEBHFER RE 2,000

1An &t 104 57,000

(XX 55 X5 HHE) | €M)

EL - 10 57,000

me 0 0

FH 0 0

TR -£ER 0 0

ZDih 0 0

1AREE 1044 57,000
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